Resource sheet PR5

Pupils’ solutions to proportion problems: Stacking CDs

Kelsey’s solution

9 CDs put side by side on a shelf measure 5 cm. How many centimetres would 14
CDs placed side by side measure?
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David’s solution

9 CDs put side by side on a shelf measure 5 cm. How many centimetres would 14
CDs placed side by side measure?
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Anna’s solution

9 CDs put side by side on a shelf measure 5 cm. How many centimetres would 14
CDs placed side by side measure?

=
I 5 2
IBo00E Tee 1%
. & . i 1
¥t 51’&!:'1?:1L o JEEE
g, i
Eoual~ ' : -
H.Jlfél '-..-'-T'_":I )& 120
Sy -3
iy Tk
£
[P
b~
' a
5 & 055 4 aéhi.‘c:tr e,

: 1= 4 ~
a5 i | the Lenot e lboD
R e 778 e y
275+ 5= 7T em R

Sam’s solution

9 CDs put side by side on a shelf measure 5 cm. How many centimetres would 14
CDs placed side by side measure?
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Joanne’s solution

9 CDs put side by side on a shelf measure 5 cm. How many centimetres would 14
CDs placed side by side measure?
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Simba'’s solution

9 CDs put side by side on a shelf measure 5 cm. How many centimetres would 14
CDs placed side by side measure?
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Bina’s solution

9 CDs put side by side on a shelf measure 5 cm. How many centimetres would 14
CDs placed side by side measure?
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Lee’s solution

9 CDs put side by side on a shelf measure 5 cm. How many centimetres would 14
CDs placed side by side measure?
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Resource sheet PR6

Pupils’ solutions to proportion problems: Coursework

Asjad’s solution

For a coursework task Ben gained % of the available marks, while Natasha gained %
Who got the better mark?
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Daniel’s solution

For a coursework task Ben gained % of the available marks, while Natasha gained %
Who got the better mark?
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Zakir’s solution

For a coursework task Ben gained % of the available marks, while Natasha gained %
Who got the better mark?
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Danny’s solution

For a coursework task Ben gained % of the available marks, while Natasha gained %
Who got the better mark?
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Natasha’s solution

For a coursework task Ben gained % of the available marks, while Natasha gained %
Who got the better mark?

Sam’s solution

For a coursework task Ben gained % of the available marks, while Natasha gained %
Who got the better mark?
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Sarah’s solution

For a coursework task Ben gained % of the available marks, while Natasha gained %

Who got the better mark?
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Resource sheet PR7
Pupils’ solutions to proportion problems: Similar

triangles
Natalie’s solution
The two triangles are similar. Calculate x.
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Robert’s solution
The two triangles are similar. Calculate x.
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Kwon Joo’s solution
The two triangles are similar. Calculate x.
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Michael’s solution
The two triangles are similar. Calculate x.
6.cm
4 cm
xXcm
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Zoe’s solution

The two triangles are similar. Calculate x.
6cm
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Jack’s solution

The two triangles are similar. Calculate x.
6 cm
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Resource sheet PR8

Pupils’ solutions to proportion problems: Gold brooch

Vamezy’s solution

A gold brooch weighs 58.75 g. The density of gold is 19.3 g/cm?®. What volume of gold
is used to make the brooch?

James’s solution

A gold brooch weighs 58.75 g. The density of gold is 19.3 g/cm?®. What volume of gold
is used to make the brooch?
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Kieran’s solution

A gold brooch weighs 58.75 g. The density of gold is 19.3 g/cm?®. What volume of gold
is used to make the brooch?
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Lee’s solution

A gold brooch weighs 58.75 g. The density of gold is 19.3 g/cm®. What volume of gold
is used to make the brooch?
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Xenan’s solution

A gold brooch weighs 58.75 g. The density of gold is 19.3 g/cm?®. What volume of gold
is used to make the brooch?
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Percy’s solution

A gold brooch weighs 58.75 g. The density of gold is 19.3 g/cm®. What volume of gold
is used to make the brooch?
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